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	 1.	 fuEufyf•r dFkuksa ij fopkj dhft, rFkk lgh fodYi 
dks pqfu, %

	 (i)	 tqykbZ 1952 esa ts-ch- Ñiykuh us fdlku etnwj 
çtk ikVhZ dk xBu fd;k

	 (ii)	 ih- lh- ?kks"k ,oa Vh- çdk'ke fdlku etnwj çtk 
ikVhZ ls tqM+s gq, Fks 

	 (a)	 (i) lgh gS] ysfdu (ii) xyr gS

	 (b)	 (i) xyr gS] ysfdu (ii) lgh gS-

	 (c)	 (i) ,oa (ii) nksuksa gh lgh gSa

	 (d)	 (i) ,oa (ii) nksuksa gh xyr gSa

	 2-	^fczfV'k bafM;u ,lksfl;s'ku* ds çFke vè;{k dkSu Fks \

	 (a)	 lqjsUæ ukFk cuthZ

	 (b)	 xksiky Ñ".k xks•ys

	 (c)	 jk/k dkUr nso

	 (d)	 vkuUn eksgu cksl

	 3-	Hkkjrh; jk"Vªh; dkaxzsl dk f=kiqjh lEesyu dc vk;ksftr 
gqvk Fkk ftlesa usrkth lqHkk"k paæ cksl dkaxzsl ds vè;{k 
euksuhr fd, x, Fks\

	 (a) 	 1936	 (b)	1937

	 (c)	 1938	 (d)	1939

	 4-	1920 esa vk;ksftr ^vkWy bafM;k VªsM ;wfu;u dkaxzsl* ds 
mn~?kkVu l=k dh vè;{krk fdlus dh Fkh\

	 (a)	 ykyk yktir jk;	 (b)	 cky xaxk/j fryd

	 (c)	 fcfiu paæ iky	 (d)	lqjsUæ ukFk cuthZ

	 5-	ex/ lkezkT; dh jkt/kuh ikVfyiq=k ds ckjs esa 
fuEufyf•r esa ls dkSu&lk dFku lR; gS\ 

	 (a)	 ikVfyiq=k iwjc esa xaxk unh ls ,oa mÙkj esa pEik 
unh ls f?kjk gqvk Fkk

	 (b)	 ikVfyiq=k mÙkj esa xaxk unh ls ,oa if'pe esa lksu 
unh ls f?kjk gqvk Fkk

	 (c)	 ikVfyiq=k nf{k.k esa foaè; ioZr ls ,oa iwjc esa 
xaxk unh ls f?kjk gqvk Fkk

	 (d)	 ikVfyiq=k nf{k.k esa foaè; ioZr ls ,oa if'pe esa 
pEik unh ls f?kjk gqvk Fkk

	 6-	çfl¼ fp=kdkj uanyky cksl fdl o"kZ dyk Hkou 
('kkafrfudsru) ds fçafliy cus Fks \

	 (a)	 1942	 (b)	1932

	 (b)	 1922	 (d)	1912

	 7-	yksdlHkk ,oa fo/kulHkk esa lhVksa ds vkj{k.k ls lacaf/r 
fuEufyf•r dFkuksa dks if<+, rFkk lgh fodYi dks 
pqfu, %

	 1.	 Consider the following statements and choose the 
correct option : 

	 (i)	  J. B. Kripalani formed the Kisan Mazdoor 
Praja Party in July,  1952

	 (ii)	 P. C. Ghosh and T. Prakasam  were associated 
with Kisan Mazdoor Praja Party 

	 (a) 	 (i) is true, but (ii) is false
	 (b)	  (i) is false, but (ii) is true 
	 (c) 	 (i) and (ii) both are true
	 (d) 	 (i) and (ii) both are false 
	 2.	 Who was the first president of 'British Indian 

Association'? 
	 (a)	 Surendra Nath Banerjee
	 (b)	 Gopal Krishna Gokhale
	 (c)	 Radha Kant Dev 
	 (d)	 Anand Mohan Bose 
	 3.	 When was the Tripuri Session of  the Indian 

National Congress held in which Netaji Subhash 
Chandra Bose was elected the President of the  
Congress? 

	 (a)	 1936.	 (d) 	1937 
	 (c)	 1938	 (d)	 1939
	 4. 	Who had presided -over the inaugural ·  session of 

the 'All India Trade Union Congress' held in 1920? 
	 (a)	 Lala Lajpat Rai
	 (b)	 Bal Gangadhar Tilak
	 (c)	 Bipin Chandra Pal
	 (d)	 Surendra Nath Banerjee 
	 5.	 Which of the following statements is true regarding 

Pataliputra, the capital of the Magadha Kingdom? 
	 (a)	 Pataliputra was surrounded by the river 

Ganges in the East and by the river Champa 
in the North 

	 (b)	 Pataliputra was surrounded by the river 
Ganges - in the North  and by the river Sone 
·in the West 

	 (c)	 Pataliputra was surrounded by the Vindhya 
mountain in the South and by the river 
Ganges in the East 

	 (d) 	 Pataliputra was surrounded by  the Vindhya 
mountain in the South and by the river 
·Champa in the West 

	 6.	  In which .. year Nandalal Bose.a famous painter, 
had become the Principal of  Kala Bhawan 
(Shantiniketan)?

	 (a)	 1942	 (b)	 1932 
	 (c)	 1922	 (d)	 1912 
	 7.	 Read the, following statements in relation to 

reservation of seats in Lok  Sabha and Legisiative 
Assembly, and choose the correct option : 
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		  Statement I : Out of the 543 elected seats in the 
Lok Sabha, 84 are reserved for Scheduled Castes 
and  44 are reserved for Scheduled Tribes 

		  Statement II : Decision, on which constituency 
is to be reserved, is taken  by the Delimitation 
Commission 

		  Statement III:  The Delimitation Commission is 
appointed by the Lok Sabha Speaker 

	 (a) 	 Statement I, II and. III all are true 
	 (b) 	 Statement I is true, but Statement   II and III 

are false 
	  (c)	  Satement I and III are false, but Statement 

II is. true.  
	 (d) 	 Statement I, II and III all are false
	 8.	 Read  the  following statements   and choose the 

correct option: 
		  Statement I :  Right to property  was deleted from 

the list of Fundamental Rights by the 44th 
Amendment Act, 1978

		  Statement  II  : Right to  property was made  a legal 
right under Article 300-A in Part XII of the 
Constitution

	 (a) 	  Statement I is true, but Statement II is false
	 (b)  	 Statement I is false, but Statement II is true
	 (c) 	 Statement   I  and   Statement   II both  are 

true
	 (d) 	  Statement   I  and   Statement   II both  are 

false
	 9.	 Choose   the  correct   statement    out  of the  four   

statements    given    regarding alluvial	soil  :
	 (a)	 This  soil  is found  in about  14% portion  

of India's  land  surface
	 (b)	 Phosphoric  acid is found in rich quantity  

in this  soil
	 (c) 	  This soil is also known by names such 'as 

Reh,  Thur,  Chopan
	 (d)	 Thus soil is not fertile
	 10.	 Four rivers have been mentioned below. What will 

be the decreasing order of these rivers in length 
(starting from the longest to the shortest)?

	 (i)	 Mahanadi
	 (ii)	 Krishna
	 (iii)	 Godavari
	 (iv)	 Narmada
	 (a) 	 (iv)	 (i)	 (ii)	 (iii)
	 (b)  	(ii)	 (iii)	 (i)	 (iv)
	 (c)	 (i)	 (ii)	 (iv)	 (iii)
	 (d) 	 (iii)	 (ii)	 (iv)	 (i)

		 dFku I% yksdlHkk dh 543 fuokZfpr lhVksa esa ls 84 
lhVsa vuqlwfpr tkfr;ksa ,oa 44 lhVsa vuqlwfpr tutkfr;ksa 
ds fy, vkjf{kr gSA

		 dFku II: fdlh fuokZpu {ks=k dks vkjf{kr B djus dk 
fu.kZ; ifjlheu vk;ksx }kjk fy;k tkrk gS

	 	dFku III% ifjlheu vk;ksx dh fu;qfÙkQ yksdlHkk ds 
Lihdj }kjk dh tkrh gSA

	 (a)	 dFku I, II ,oa III lHkh lgh gSa 

	 (b)	 dFku I lgh gS] ysfdu dFku II ,oa III xyr gSa

	 (c)	 dFku I ,oa III xyr gS] ysfdu dFku II lgh gS

	 (d) 	dFku I, II ,oa III lHkh xyr gSa

	 8-	fuEufyf•r dFkuks dks if<+, rFkk lgh fodYi dks 
pqfu, %

		 dFku I: 44osa la'kks/u vf/fu;e] 1978 }kjk laifr 
ds vf/dkj dks ekSfyd vf/dkjksa dh lwph ls gVk fn;k 
x;kA

		 dFku II: laifÙk ds vf/dkj dks lafo/ku ds Hkkx XII 
esa vuqPNsn 300-A ds rgr fof/d vf/dkj cuk fn;k 
x;k

	 (a)	 dFku I lgh gS] ysfdu dFku II xyr gS

	 (b)	 dFku I xyr gS] ysfdu dFku II lgh gS

	 (c)	 dFku I ,oa dFku II nksuksa gks lgh) gSa

	 (d)	 dFku I ,oa dFku II nksuksa gh xyr gSa

	 9-	tyks<+ feV~Vh ds lanHkZ esa uhps fn, x, pkj dFkuksa esa 
ls lgh dFku dks pqfu,% 

	 (a)	 ;g feV~Vh Hkkjr ds dqy Hkw&Hkkx ds djhc 14» 
fgLls esa ikbZ tkrh gS

	 (b)	 bl feV~Vh esa iQkLiQksfjd ,flM Hkjiwj ek=kk esa 
ik;k tkrk gS

	 (c)	 ;g feV~Vh jsg] /wj] pksiu tSls ukeksa ls Hkh tkuh 
tkrh gS

	 (d)	 ;g feV~Vh mitkÅ ugha gksrh gS

	10-	uhps pkj ufn;ksa ds uke fn, x, gSaA yEckbZ osQ  
n`f"Vdks.k ls bu ufn;ksa dk ?kVrk gqvk Øe (lcls yEch 
ls vkjaHk dj lcls NksVh rd) D;k gksxkA

	 (i)	 egkunh	 (ii)	Ñ".kk

	 (iii) 	xksnkojh	 (iv) 	ueZnk

		 (a) (iv)	 (i)	 (ii)	 (iii)
		 (b) (ii)	 (iii)	 (i)	 (iv)
		 (c) (i)	 (ii)	 (iv)	 (iii)
		 (d) (iii)	 (ii)	 (iv)	 (i)
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	11-	teZu flYoj esa flYoj fdruk çfr'kr ik;k tkrk gS\

	 (a)	 20»	 (b)	30»

	 (c)	 60»	 (d)	buesa ls dksbZ ugha

	12-	èofu rjaxksa ls lacaf/r fuEufyf•r dFkuksa esa ls dkSu 
dFku lgh gS\

		 dFku I: tc ge Bksl ls xSlh; voLFkk esa tkrs gSa rc 
èofu dh xfr de gks tkrh gSA 

		 dFku II: fdlh Hkh ekè;e esa tSls gh ge rkieku dks 
de djrs gSa] oSls gks èofu dh xfr c<+ tkrh gS

		 dFku III% èofu dh xfr dk¡p ds ekè;e dh rqyuk 
esa vY;qfefu;e ds ekè;e esa de jgrh gS

	 (a) 	dFku I] II ,oa III lHkh lgh gSa

	 (b) 	dsoy dFku I ,oa II lgh gSaA 

	 (c) 	dsoy dFku I lgh gS

	 (d) 	dsoy dFku II ,oa III lgh gSa

	 13-	ikS/ksa dh o`f¼ ds laca/ esa fuEufyf•r esa ls dkSu 
eSØksU;wfVª,aV gS\

	 (a)	 iksVsf'k;e	 (b)	 ftad

	 (c)	 cksjksu	 (d)	Dyksfju

	14-	ikjk ,d ,slk fo"kSyk inkFkZ gS tks Hkwfe] ty] ok;q ,oa 
•k| J`a•yk dks cqjh rjg nwf"kr dj nsrk gSA fuEufyf•r 
esa ls dkSu ikjk çnw"k.k dk lzksr gS@ds lzksr gSa \

	 I. 	dhVuk'kd

	 II.	 MsaVy vçSyxe fiQfyaXl

	 III. 	ÝywjslsaV ySEi

	 IV. 	dks;yk&vk/kfjr rki fo|qr~ la;a=k

	 (a) 	dsoy I	

	 (b) 	dsoy I ,oa II

	 (c) 	dsoy I] II ,oa III

	 (d) 	I] II] III ,oa IV lHkh

	15-	fdlh mÙky niZ.k }kjk vuar rFkk niZ.k ds èkqzo P ds 
chp j•s fcEc ds çfrfcEc dh çÑfr D;k gksxh \

	 (a) 	vkHkk"kh rFkk lh/k

	 (b) 	okLrfod rFkk lh/k

	 (c) 	okLrfod rFkk mYVk

	 (d)	 vkHkk"kh rFkk mYVk

	16- 	çdk'k la'ys"k.k dh çfØ;k esa ,-Vh-ih- ds fdrus v.kq 
Xywdkst ds çR;sd v.kq ds la'ys"k.k esa 'kkfey jgrs gSa\

	 (a)	 16	 (b)	18

	 (c)	 20	 (d)	24

	17-	lwph&I dk feyku lwph&II ls dhft, rFkk uhps fn, 
x, dwV ls lgh mÙkj pqfu,

	 11.	 How much percentage of silver is found in German 
Silver?

	 (a) 	 20%
	 (b)  	30%
	 (c) 	 60%
	 (d) 	 None of these
	 12.	 Which of the following statements is are true in 

relation   to sound  waves?  
		  Statement I :   Speed  of  sound  decreases when 

we go from solid to gaseous state
		  Statement  II:  In any medium  as we decrease   

the  temperature, the  speed of sound  increases
		  Statement III : Speed  of  sound  is less  in 

aluminium    medium   than   in glass  medium
	 (a) 	 Statement I, II and II all are true
	 (b)  	only Statement I and II are true
	 (c) 	 Only Statement I is true
	 (d) 	 Only Statement II and III are true
	 13.	 Which of the following is macronutrient in relation 

to growth of plants?
	 (a) 	 Potassium
	 (b)  	Zinc
	 (c) 	 Boron
	 (d) 	 Chlorine
	 14.	 Mercury  is  a  toxic  substance  that severely 

contaminates land, water, air and the food chain. 
Which among the following is/are source(s) of 
mercury pollution?

	 I. 	 Pesticides
	 II. 	 Dental amalgam fillings
	 III. 	 Fluorescent lamp
	 IV. 	 Coal-based thermal power plants
	 (a) 	 Only I
	 (b) 	 Only I and II
	 (c)	 Only I, II and III 
	 (d)	 I, II, III and IV all
	 15.	 What  will  be  the  nature  of  image formed· by 

a convex mirror when the position of object is 
between  infinity and pole P of the mirror?

	 (a) 	  Virtual and erect
	 (b) 	  Real and erect
	 (c) 	  Real and inverted
	 (d) 	  Virtual and inverted
	 16.	 In the process of Photosynthesis,  how many 

molecules of A.T.P. are involved in the synthesis  
of each molecule  of Glucose?

	 (a)	 16 	 (b)	 18 
	 (c)	 20 	 (d)	 24
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		  lwph&1		 lwph&II

	(varjjkT; ty fookn)	       ('kkfey jkT;ksa dh la[;k)

	 (a) 	egknk;h ty fookn 	 (i)	3

		  U;k;kf/dj.k

	 (b) 	xksnkojh ty fookn	 (ii)	5

		  U;k;kf/dj.k

	 (c)	 ueZnk ty U;k;kf/dj.k 	 (iii)	4

	 (d)	 egkunh ty fookn 	 (iv)	2

		  U;k;kf/dj.k

	 dwV %
		  (a)	 (b)	 (c)	 (d)
	 (a)	 (i)	 (ii)	 (iii)	 (iv)
	 (b)	 (iii)	 (ii)	 (i)	 (iv)
	 (c) 	 (ii) 	 (iii) 	 (i)	 (iv)

	 (d)	 (iii)	 (ii)	 (iv)	 (i)

	18-	fuEufyf•r esa ls fdldk@fdu yksxksa dk Lora=k Hkkjr 
ds çFke eaf=keaMy (1947) dk iksVZiQksfy;ks muds 
varfje ljdkj (1946) ds iksVZiQksfy;ks ls fHkUu Fkk \

	 (i)	 txthou jke	 (ii)	MkW- jktsUæ çlkn

	 (iii)	 lh- ,p- HkkHkk	 (iv)	ljnkj cynso flag

	 (a)	 dsoy (i) ,oa (ii)

	 (b) 	dsoy (iii) ,oa (iv)

	 (c) 	dsoy (i) ,oa (iii)

	 (d) 	dsoy (iii)

	19- 	fuEufyf•r esa ls dkSu laoS/kfud fudk; gS@ gSa \
	 (i) 	jk"Vªh; ekuokf/dkj vk;ksx

	 (ii) 	jk"Vªh; vuqlwfpr tutkfr vk;ksx

	 (iii) 	jk"Vªh; tk¡p ,tsUlh

	 (iv)	 jk"Vªh; vkink çca/u çkf/dj.k
	 (a) 	 (i), (ii), (iv)
	 (b) 	 (i), (ii), (iii)

	 (c) 	dsoy (ii)

	 (d) 	dsoy (iii)

	20-	lwph&I dk feyku lwph&II ls dhft, rFkk uhps fn, 
x, dwV ls lgh mÙkj pqfu,

		  lwph&1		 lwph&II

		  (jkT;)	       (2019 rd jk"Vªifr 'kklu 

		                	ykxw fd, tkus dh la[;k)

	 (a) 	ef.kiqj	 (i)	8

	 (b) 	mÙkj izns'k	 (ii)	 10

	 (c)	 fcgkj 	 (iii)	 9

	 (d)	 vksfM'kk	 (iv)	6

	 17.	 Match List-I with List-II and choose the correct 
answer from the code 1 given below:

		  List-I	         List-II 
(Interstate Water Disputes)	   (No. of States Involved)
	 (a)	 Mahadayi Water 	 (i)	 3
		  Disputes Tribunal
	 (b)	 Godavari Water	 (ii)	 5 

Disputes Tribunal
	 (c) 	 Narmada Water 	 (iii)	 4
		  Disputes Tribunal
	 (d)	 Mahanadi Water 	 (iv) 	2 

Disputes Tribunal
	 Code:
		  (a)	 (b)	 (c)	 (d)
	 (a)	 (i)	 (ii)	 (iii)	 (iv)
	 (b)	 (iii)	 (ii)	 (i)	 (iv)
	 (c)	 (ii)	 (iii)	 (i)	 (iv)
	 (d)	 (iii)	 (ii)	 (iv)	 (i)
	 18. 	Among the following given names, whose portfolio 

in the first cabinet of free India (1947) was different 
from his portfolio in the Interim government 
(1946)?

	 (i) 	 Jagjivan Ram	
	 (ii) 	 Dr. Rajendra Prasad
	 (ii) 	 C. H. Bhabha
	 (iv) 	 Sardar Baldev Singh
	 (a) 	 Only (i) and (ii)
	 (b) 	 Only (iii) and (iv)
	 (c) 	 Only (i) and (iii)
	 (d) 	 Only (i) and (iii)
	 19. 	Which of the following is/are constitutional body/

bodies?
	 (i)	 National Human Rights Commission
	 (ii)	 National Commission for Scheduled Tribes
	 (iii)	  National Investigation Agency 
	 (iv)	 National Disaster Management Authority
	 (a)	 (i), (ii), (iv)	 (b)	 (i), (ii), (iii)
	 (c) 	 Only (ii)	 (d) 	Only (iii)
	 20.	 Match List-I with List-II and choose the correct 

answer from the code 1 given below:
		  List-I	         List-II 
		  (State)	    (No. of times President Rule 	

	 has been imposed	
	 till 2019)

	 (a)	 Manipur 	 (i)	 8
	 (b)	 Uttar Pradesh	 (ii)	 10
	 (c) 	 Bihar	 (iii)	 9
	 (d)	 Odisha	 (iv)	 6
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	 dwV %
		  (a)	 (b)	 (c)	 (d)
	 (a)	 (iii)	 (ii)	 (i)	 (iv)
	 (b)	 (ii)	 (iii)	 (i)	 (iv)
	 (c) 	 (i) 	 (ii) 	 (iii)	 (iv)

	 (d)	 (iv)	 (ii)	 (iii)	 (i)

	21-	fdlh ikVhZ dks ,d jkT; ikVhZ ds :i esa ekU;rk rHkh 
fey ldrh gS tc%

	 (i) 	og lacaf/r jkT; ds fdlh vke fo/kulHkk pquko 
esa i<+s dqy oS/ erksa 	dk 6» çkIr dj ikbZ gks 

	 (ii) 	og lacaf/r jkT; ds fdlh vke fo/kulHkk pquko 
esa 2 lhVsa thr ikbZ

	 (iii)	 ;g lacaf/r jkT; ds fdlh vke yksdlHkk pquko 
esa i<+s dqy erksa dk 4» çkIr dj ikbZ gks

	 (iv)		 og lacaf/r jkT; ds fdlh vke yksdlHkk pquko 
esa iM+s dqy oS/ erksa dk 6» çkIr dj ikbZ gks

	 (a) 	dsoy (i) ;k (iii)

	 (b) 	dsoy (i) ;k (iv)

	 (c) 	dsoy (i) ,oa (ii)

	 (d)	 mi;ZqÙkQ esa ls dksbZ ugha

	22-	vk/qfud ;qx ds çfl¼ fp=kdkj jktk jfo oekZ dk tUe 
fdl o"kZ gqvk Fkk \

	 (a)	 1848	 (b)	 1858
	 (c)	 1868	 (d) 	1878

	23-	lkSj e.My ls lacaf/r fuEufyf•r dFkuksa esa ls dkSu 
lgh gSa\

	 I. 	cq/ xzg lkSj e.My dk lcls xje xzg gS

	 II. 	'kfu dk mixzg xSfueksM lkSj e.My dk lcls 
cM+k mixzg gS

	 III.	 usiP;wu mi'kwU; rkieku okys feFksu xSl ds oy;ksa 
ls f?kjk jgrk gS

	 IV. 	iQksDl ,oa Mkbel eaxy ds nks mixzg

	 (a) 	dsoy I ,oa II lgh gS

	 (b) 	dsoy II ,oa III lgh gS

	 (c)	 dsoy III ,oa IV lgh gSa 

	 (d) 	I, II] III ,oa IV lHkh lgh gSaA

	24-	mèokZ/j ry (,fyos'ku) ,oa {kSfrt ry (,fteFk) esa 
dks.kh; nwjh dks ekius esa ç;qÙkQ gksus okyk ;a=k gS %

	 (a) 	csosy çksVªSDVj	

	 (c) 	vYVksehVj

	 (c) 	fluDykbu

	 (d) 	fFk;ksMksykbV

	 Code:
		  (a)	 (b)	 (c)	 (d)
	 (a)	 (iii)	 (ii)	 (i)	 (iv)
	 (b)	 (ii)	 (iii)	 (i)	 (iv)
	 (c)	 (i)	 (ii)	 (iii)	 (iv)
	 (d)	 (iv)	 (ii)	 (iii)	 (i)
	 21.	 A party can be recognised as a State Party when :
	 (i) 	 it secures 6% of the total valid votes polled 

in the state at a general election to the 
Legislative Assembly of the state concerned

	 (ii)	  it wins 2 Assembly seats at a general election 
to the Legislative Assembly of the state 
concerned

	 (iii)	 it secures 4% of the total valid votes polled 
in the state at a general election to the Lok 
Sabha of the state concerned

	 (iv) 	 it secures 6% of the total valid votes polled 
in the state at a general election to the Lok 
Sabha of the state concerned

	 (a) 	 Only (i) or (iii)
	 (b) 	 Only (i) or (iv)
	 (c) 	 Only (i) and (ii)
	 (d) 	 None of the above
	 22.	 In which year was Raja Ravi Verma, a famous 

painter of the Modern Age, born?
		  (a) 1848		  (b) 1858
		  (c) 1868		  (d) 1878
	 23.	 Which of the following statements are correct 

regarding the solar system? 
	 I. 	 Mercury is the hottest planet in the solar 

system
	 II. 	 Ganymede, satellite of Saturn, is the largest 

satellite in the solar system
	 III.	  Neptune is surrounded by methane gas rings 

of sub-zero temperature
	 IV. 	 Phobos and Deimos are two satellites of 

Mars
	 (a) 	 Only I and II are correct
	 (b)	 Only II and III are correct
	 (c)	 Only III and IV are correct
	 (d) 	 I, II, III and IV all are correct
	 24.	 The instrument, used for measuring angular 

distances in vertical plane (elevation) and the 
horizontal plane (azimuth), is:

	 (a) 	 Bevel protractor
	 (b) 	 Altimeter
	 (c) 	 Syncline
	 (d) 	 Theodolite
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	25- 	twV dh [ksrh osQ ckjs esa fuEufyf•r dFkuksa ij fopkj 
ij fopkj dhft,%

	 1- 	NwV ,d jch iQly gS

	 II-	 twV dh iQly ds fy, mPPk rkieku lfgr  
vknzZ tyok;q dh t:jr iM+rh gS

	 III.	 Hkkjr esa twV dh •srh eq[; :i ls ns'k ds iwohZ 
{ks=k esa lhfer gS

		 fuEufyf•r dFkuksa esa ls dkSu lgh gS gS\ 

	 (a)	 dsoy I lgh gS

	 (b)	 dsoy II vkSj III lgh gSa 

	 (c) 	I, II ,oa III lHkh lgh gSaA 

	 (d) 	dsoy I ,oa III lgh gSa

	 26-	vkj-Mh-,-vkbZ- us fdloQh vè;{krk esa LVs.MMZ çksMDV  
ykbvWfyfyvdks bUL;ksjsUl izksMDV dh vko';drk dh 
tk¡p gsrq ,d iSusy dk xBu fd;k gS\

	 (a) 	çoh.k dqVqEcs

	 (b) 	ih- mes'k

	 (c)	 ds- x.ks'k

	 (d) 	Vh- ,y- vyesyq

	27-	Hkkjrh; lsuk dk dkSu&lk tgkt fe'ku lkxj&III ds 
rgr fnlEcj] 2020 esa eè; fo;ruke ds ckn çHkkfor 
yksxksa ds fy, 15 u ekuoh; lgk;rk vkSj vkink jkgr 
lkexzh (,p- ,- Mh- vkj- LVkslZ) ds lkFk gks ph feUg 
flVh ds Ugk jksx canjxkg ij igq¡pk Fkk \

	 (a) 	vkbZ- ,u- ,l- dyojh

	 (b)	 vkbZ-,u-,l- 'ksdqy

	 (c)	 vkbZ-,u-,l- fdYrku

	 (d)	 vkbZ- ,u- ,l- ?kfM+;ky

	28-	;w- ,u- Mh- ih- }kjk fdl Hkkjrh; dks ,l-Mh- th- 
^Lis'ky áwefuVsfj;u ,D'ku vokMZ* çnku fd;k x;k 
gS\

	 (a) 	,- vkj- jgeku	 (b) 	daxuk jukSr

	 (c)	 tk/o iQk;sax	 (d) 	lksuw lwn

	29-	fdl fØdsV f•ykM+h dks ^vkbZ-lh-lh- esUl VsLV Iys;j 
vkWiQ n fMdsM* ?kksf"kr fd;k x;k gS\

	 (a)	 fojkV dksgyh	 (b)	dsu fofy;Elu

	 (c)	 LVho fLeFk	 (d)	dqekj laxdkjk

	30-	fxjh'k paæ lqeZw cus gSa Hkkjr ds

	 (a) 	120 fu;a=kd ,oa egkys•kijh{kd

	 (b) 	13osa fu;a=kd ,oa egkys•kijh{kd

	 (c) 	14osa fu;a=kd ,oa egkys•kijh{kd

	 (d) 	15osa fu;a=kd ,oa egkys•kijh{kd

	 25.	 Consider the following statements about the Jute 
cultivation in India:

	 1.	 Jute is a Rabi crop

	 II. 	 Jute crop requires humid climate with high 
temperature

	 III. 	 The cultivation of Jute in India is mainly 
confined to the eastern region of the country.

		  Which of the following statements is/ are correct?
	 (a)	 Only 1 is correct

	 (b)	 Only II and III are correct

	 (c)	 I, II and III all are correct

	 (d)	 Only I and III are correct

	 26.	 IRDAI has set up a panel under whose chairmanship 
to examine need for standard cyber liability 
insurance product?

	 (a)	 Pravin Kutumbe

	 (b) 	 P. Umesh

	 (c) 	 K. Ganesh

	 (d) 	 T. L. Alamelu

	 27.	 Which Ship of Indian Navy had reached Nha Rong 
Port of Ho Chi Minh City under Mission Sagar III 
with 15 tonnes of Humanitarian Assistance and 
Disaster Relief Stores for flood-affected people of 
Central Vietnam in December, 2020? 

	 (a) 	 INS Kalvari	

	 (b)	 INS Shankul

	 (c) 	 INS Kilta

	 (d)	 INS Gharial

	 28.	 Which Indian has been awarded with SDG Special 
Humanitarian Action Award' by UNDP? 

	 (a)	 A. R. Rehman	 (B) 	Kangana Ranaut

	 (C)	 Jadhav Phayeng	 (D)	 Sonu Sood

	 29.	 Which cricketer has been declared ICC Men's Test 
Player of the Decade"?

	 (a)	 Virat Kohli	 (b) 	Kane Williamson

	 (c)	 Steve Smith	 (d) 	Kumar Sangakkara

	 30. 	Girish Chandra Murmu has become India's:
	 (A)	 12th Comptroller & Auditor General

	 (B)	 13th Comptroller & Auditor General

	 (C)	 14th Comptroller & Auditor General

	 (D)	 15th Comptroller & Auditor General
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	31-	;wusLdks ds 'lSaMLdsi flVh çksxzke' ds rgr fnlEcj] 
2020 esa eè; çns'k ds fdu nks 'kgjksa dks ^fo'o  
/jksgj* okys 'kgjksa dh lwph esa 'kkfey dj fy;k x;k 
gS\

	 (a)	 bUnkSj] Xokfy;j	 (b)	vksjNk] Xokfy;j

	 (c) 	Hkksiky] bUnkSj	 (d)	Hkksiky] jhok

	32-	vfurk vkuan dks fdl iqLrd ds fy, isu gsly fVYVeSu 
çkbl iQkWj fgLVªh] 2020 çnku fd;k x;k gS\

	 (a)	 dksfguwj	 (b)	n islsaV vWlsflu

	 (c)	 n C;wVh xse	 (d)	dkcqy CykWXl

	33-	la;qÙkQ jk"Vªla?k ds egklfpo ,aVksfu;ks xqVsjsl }kjk tyok;q 
ifjorZu ij cuk, x, vius u, ;qok ijke'kZnkrk lewg 
esa fdl Hkkjrh; dks j•k x;k gS\

	 (a)	 lqferk ukjk;.k	 (b) 	oUnuk f'ko

	 (c) 	vpZuk lksjax	 (d) 	oS'kkyh cuthZ

	34-	fo'o vFkZ'kkL=kh; eap ds oSf'od fyax varj lwpdkad] 
2020 esa Hkkjr dk dkSu&lk LFkku gS \

	 (a) 	109 ok¡	 (b)	110oha

	 (c) 	111ok¡	 (d)	112ok¡

	35-	Hkkjrh; lafo/ku ds fdl la'kks/u esa ouksa dks jkT; lwph 
ls leorhZ lwph esa LFkkukarfjr dj fn;k x;k \

	 (a)	 41ok¡	 (b)	42ok¡

	 (c)	 43ok¡	 (d) 	45ok¡

	36-	fuEufyf•r esa ls fdu ns'kksa us ^ukek&11* dk xBu 
fd;k gS\

	 (a)	 fodflr ns'k	

	 (b) 	fodkl'khy ns'k

	 (c) 	de fodflr ns'k

	 (d)	 fodkl'khy ,oa de fodflr ns'k

	37- 	̂isij xksYM* in dk vk'k; gS%

	 (a)	 varjkZ"Vªh; eqæk dks"k (vkbZ-,e-,iQ-) dk fo'ks"k 
vf/dkj (,l-Mh-vkj-)

	 (b) 	fo'ks"k fuokZg vf/dkj

	 (c) 	lksus ls tqM+h eqæk,¡

	 (d)	 mi;ZqÙkQ esa ls dksbZ ugha

	38-	^xzhugkml çHkko* esa ;ksxnku nsus okys fuEufyf•r dk 
?kVrk gqvk Øe D;k gksxk \

	 (a) 	 CO2 > CH4 > CFCN2O

	 (b) 	 CH4 > CO2 > CFCs > N2O
	 (c)	 CO2 > CFCs > CH4 > N2O
	 (d)	 CO2 > CH4 > N2O > CFCs

	 31.	 In December 2020, which two cities of Madhya 
Pradesh have been included in the World Heritage' 
cities list of UNESCO under its 'landscape city 
programme"?

	 (a)	 Indore, Gwalior 	 (b)	 Orchha, Gwalior
	 (c)	 Bhopal, Rewa	 (d)	 Bhopal, Indore
	 32.	 The PEN Hessell-Tiltman Prize for History, 2020 

has been given for which book of Anita Anand?
	 (a)	 Kohinoor
	 (b)	 The Patient Assassin 
	 (c)	 The Beauty Game
	 (d)	 Kabul Blogs
	 33. 	Which Indian has been kept by UN Secretary-Gen-

eral Antonio Guterres to his New Yout Advisory 
Group on climate change?

	 (A) 	 Sumita Narain	
	 (B) 	 Vandana Shiva
	 (C) 	 Archana Soreng
	 (D) 	 Vaishali Banerjee
	 34.	 What is India's rank on the World Economic Fo-

rum's Global Gender Gap Index, 2020?
	 (a)	 109th	 (b) 	110th

	 (c) 	 111th	 (d) 	112th

	 35.	 In which Amendment of the Constitution of India 
forests were transferred from the State List to the 
Concurrent List?

	  (a)	 41st	 (b)	 42nd

	 (c)	 43rd	 (D) 	45th

	 36.	 Which of the following countries have formed 
NAMA-117

	 (a)	 Developed countries
	 (b)	 Developing countries
	 (c)	 Least developed countries
	 (d)	 Deve lop ing  and  l e a s t  deve loped 

countries
	 37.	 The term 'paper gold' refers to:
	 (a)	 Special Drawing Rights (SDR) of IMF
	 (b)	 Special Accommodation Rights
	 (c)	 Currencies pegged to gold
	 (d) 	 None of the above
	 38. 	What will be the decreasing order of the following 

which contribute to the 'Greenhouse effect"?
	 (a) 	 CO₂ CH, CFCs > N20
	 (b) 	 CH, CO, CFCs > N₂0
	 (c) 	 CO₂> CFCs > CH4 > N₂0 
	 (d) 	 CO₂> CH4 > N2O > CFCs
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	39-	{ks=kiQy dh n`f"V ls fuEufyf•r thoeaMy laj{k.k {ks=kksa 
dk ?kVrk gqvk Øe D;k gksxk \ 

	 (a)	 lqanjou] eUukj dh •kM+h] ipe<+h] daputaxk

	 (b) 	eUukj dh •kM+h] lqanjou ipe<+h] daputaxk

	 (c) 	eUukj dh •kM+h] lqanjcu] daputaxk]

	 (d) 	lqanjou] ipe<+h] daputaxk] eUukj dh •kM+h

	40-	^vEy o"kkZ* esa fuEufyf•r gksrs gSa % 

	 (a) 	,flfVd ,flM ,oa iQkWLiQksfjd ,flM

	 (b)	 ,flfVd ,flM ,oa ifjfl

	 (c)	 ukbfVªd ,flM ,oa lYÝ;wfjd ,flM

	 (d)	 gkbMªkstu DyksjkbM ,oa ,flfVd ,flM

	41-	fuEufyf•r dFkuksa dks if<+, rFkk lgh fodYi dks 
pqfu,%

		 dFku I: 'kq¼ ?kjsyw mRikn ¾ ldy ?kjsyw mRikn $ 
ewY;kgkl

		 dFku II% çfr O;fÙkQ vk; ¾ mRikn @ jk"Vª dh dqy 
tula[;k 'kq¼ ?kjsyw

		 dFku III: fo'o dh vFkZO;oLFkkvksa dh rqyuk djus 
gsrq 'kq¼ ?kjsyw mRikn ldy ?kjsyw mRikn dh vis{kk 
csgrj ekf=kd gS 

	 (a)	 dFku I] II ,oa III lHkh lgh gSaA

	 (b)	 dsoy dFku I ,oa II lgh gSa

	 (c)	 dsoy dFku II ,oa III lgh gSa

	 (d)	 mi;ZqÙkQ esa ls dksbZ Hkh lgh ugha gS

	42-	dSfcusV lfefr;ksa ls lacaf/r fuEufyf•r dFkuksa dks 
if<+, rFkk lgh fodYi dks pqfu, 

		 dFku I% lafo/ku esa dSfcusV lfefr;ksa dk mYys• ugha 
gS-

		 dFku II% dSfcusV lfefr;k¡ ç/kuea=kh }kjk le; dh 
t:jr ,oa ifjfLFkfr dh vko';drk dks è;ku esa j•rs 
gq, xfBr dh tkrh gSaA

		 dFku III: ;fn iz/kuea=kh lfefr ds lnL; gksa] rks ;g 
vko';d ugha fd os lfefr ds vè;{k gksa

		 dFku IV: lalnh; ekeyksa dh lfefr ds vè;{k  
ç/kuea=kh gksrs gSa

	 (a)	 lHkh dFku lgh gS

	 (b) 	dFku I, II ,oa III lgh gS] ysfdu dFku IV 
xyr gSA

	 (c) 	dFku II] III ,oa IV lgh gSa] ysfdu dFku I 
xyr gS-

	 (d) 	dFku I ,oa II lgh gSa] ysfdu dFku III ,oa 
IV xyr gSa

	 39.	 What will be the decreasing order of the following 
biosphere reserves from the point of view of the 
length? 

	 (a)	 Sunderban, Gulf of Mannar, Pachmarhi, 
Kanchenjunga 

	 (B) 	 Gulf of Mannar, Sunderban, Pachmarhi, 
Kanchenjunga

	 (C)	 Gulf of Mannar, Sunderban, Kanchenjunga, 
Pachmarhi

	 (D)	 Sunderban, Pachmarhi, Kanchenjunga, Gulf 
of Mannar 

	 40. 	Acid rain consists of the following:
	 (a) 	 Acetic acid and Phosphoric acid 
	 (b)	 Acetic acid and Sulphuric acid 
	 (c) 	 Nitric acid and Sulphuric acid 
	 (d)	 Hydrogen chloride and Acetic acid
	 41.	 Read the following statements and choose the 

correct option:
		  Statement I: Net Domestic Product = Gross 

Domestic Product + Depre ciation 
		  Statement II: Per Capita Income = Net Domestic 

Product/Total  Population of the Nation 
Statement  III:  Net  Domest ic  Product 
is the better metrics than Gross Domestic Product 
for comparing the economies of the world

	 (a)	 Statement I, II and III all are true
	 (b)	 only Statement I and II are true 
	 (c)	 only Statement II and III are true
	 (d) 	 None of the above is true
	 42.	 Read the following statements related to Cabinet 

Committees and choose the correct option:
		  Statement I: Cabinet Committees are not 

mentioned in the Constitution
		  Statement II: Cabinet Committees are set up by 

the Prime Minister according to the exigencies of 
the time and requirements of the situation 
Statement III: If Prime Minister is the member 
of Committee, he may not necessarily be the 
Chairman of Committee

		  Statement IV: Parliamentary Affairs Committee 
is chaired by the Prime Minister

	 (a)	 All statements are true
	 (b)	 Statements I, II and III are true, but 

Statement IV is false
	 (c)	 Statements II, III and IV are true, but 

Statement I is false
	 (d)	 Statements I and II are true, Statements III 

and IV are false but
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	43-	tSu lkfgR; ls lEcfU/r fuEufyf•r dFkuksa dks if<+, 
rFkk lVhd fodYi dks pqfu,

		  dFku I% 'osrkEcj /eZlw=k esa 12 vax lkfey gSa
		 dFku II% LisrkEcj ijEijk ds vuqlkj bu vaxksa dk 

ladyu oYyHkh esa vk;ksftr ,d /eZlHkk esa fd;k x;k 
Fkk

	 (a) 	dFku I ,oa dFku II nksuksa gh lgh gSa
	 (b) 	dFku I xyr gS] ysfdu dFku II lgh gS
	 (c) 	dFku ,oa dFku II nksuksa gh xyr gS
	 (d) 	dFku lgh gS] ysfdu dFku | xyr gS

	44-	fuEufyf•r dFkuksa dks if<+, rFkk lgh fodYi dks 
pqfu,%

		  dFku I% dfiy lka[; i¼fr ds lcls iqjkus ç.ksrk gS
		 dFku II% dfiy ;g crkrs gS fd fdlh O;fÙkQ dk 

thou çÑfr dh 'kfÙkQ;ksa }kjk x<+k tkrk gS] fdlh nsoh 
lÙkk }kjk ugha

	 (a)	 diu I ,oa dFku II nksuksa gh lgh gSa
	 (b) 	dFku I xyr gS] ysfdu dFku II lgh gSA
	 (c) 	dFku I ,oa dFku II nksuksa gh xyr gSa
	 (d) 	dFku lgh gS] ysfdu dFku II xyr gS
	45-	^HkwdEih; Nk;k {ks=k* ls lEcfU/r fuEufyf•r deksa dks 

if<+, rFkk lgh fodYi dh pqfu,%
		 dFku I: ,d HkwdEi dk Nk;k {ks=k nwljs HkwdEi ds 

Nk;k {ks=k ls loZFkk fHkUu gksrk gS
		 dFku II: HkwdEiys•h] HkwdEi&vf/dsUæ ls 105° ds 

ckgj fdlh Hkh nwjh ij 'P' ,oa 'S' nksuksa rjaxksa dk 
vfHkys•u djrs gSaA

	 (a) 	dFku 1 ,oa dFku II nksuksa gh lgh gSa
	 (b) 	dFku I  lgh gS] ysfdu dFku II xyr gSA
	 (c) 	dFku I xyr gS] ysfdu dFku II lgh gS
	 (d) 	dFku I ,oa dFku II nksuksa gh xyr gSa
	 46-	varjkZ"Vªh; VsLV fØdsV esa fuEufyf•r esa ls dkSu&lk 

f•ykM+h lcls T;knk ckj eSp dh nksuksa gh ikfj;ksa esa 
'kwU; ij vkmV gqvk gS \

	 (a)	 lur t;lw;kZ	 (b) 	eqFkS;k eqjyh/ju
	 (c) 	lh- ,l- ekfVZu	 (d) 	LVhiQsu Ýysfeax
	 47.	 fuEufyf•r dFkuksa dks if<+, vkSj lgh fodYi dks 

pqfu,
		 dFku I% Hkkjr dks 20 Ñf"k tyok;q çns'kksa esa ck¡Vk 

x;k gS
		 dFku II: Hkkjr dks 15 Ñf"k ikfjfLFkfrdh çns'kksa esa 

ckaVk x;k gSA
		 dFku III: if'peh fgeky; 'khr&'kq"d ikfjfLFkfrdks 

çns'k dk dojst {ks=k if'peh fgeky; çns'k ds dojst 
{ks=k ls T;knk gSA

	 43	 Read the following statements related to Jaina 
literature and choose the appropriate option: 
Statement I : The Shvetambara canon includes 
the 12 Angas

		  Statement II : According to Shvetambara 
tradition, the Angas were compiled at a council 
held at Vallabhi

	 (a) 	 Statement I and Statement II both are true 
	 (b) 	 Statement I is false, but Statement 

II is true 
	 (c)	 Statement 1 and Statement II both are false
	 (d) 	 Statement I is true, but Statement II is false
	 44.	 Read the following statements and choose the 

correct option: 
		  Statement I: Kapila is the earliest exponent of 

Samkhya system Statement II: Kapila teaches that 
a man's l ife is shaped by the forces of 
nature and not by any divine agency

	 (a)	 Statement I and Statement II both are true
	 (b)	 Statement I is false, but Statement II is true
	 (c)	 Statement I and Statement II both are false
	 (d)	 Statement 1 is true, but Statement II is false
	 45.	  Read the following statements related 'Earthquake 

shadow zone" and choose the correct option:
		  Statement I: The shadow zone of one earthquake 

is totally different from the shadow zone of another 
earthquake 

		  Statement II: Seismometers record both 'P' and 
'S' waves at any distance out of 105 from 
earthquake's epicentre 

	 (a)	 Statement I and Statement II both are true
	 (b)	 Statement I  is  true,  but Statement 

II is false
	 (c)	 Statement is false, but Statement II is true
	 (d)	 Statement I and Statement II both are false
	 46.	 Which of the following players has been the 

maximum number of time out on zero in both 
innings of match in the International Test Cricket?

	 (a)	 Sanath Jayasuriya
	 (b)	 Muttiah Muralitharan
	 (c)	 C. S. Martin
	 (d)	 Stephen Fleming
	 47.	  Read the following statements and choose the 

correct option:
		  Statement I: India has been divided into 20 agro-

climatic regions
		  Statement II: India has been divided into 15 agro-

ecological regions
		  Statement III: Coverage area of Western 

Himalaya cold arid ecoregion is more than 
coverage area of Western Himalaya region 
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	 (a) 	dFku I, II ,oa III lHkh lgh gS

	 (b) 	dFku I, II ,oa III lHkh xyr gSa-

	 (c) 	dsoy dFku I ,oa II  lgh gSa

	 (d) 	dsoy dFku I lgh gS

	48-	ml lgh fodYi dks pqfu, tks fuEufyf•r ikbiykbu 

ifjoguksa dks mudh yEckbZ ds ?kVrs Øe esa n'kkZrk gS% 

	 (i)		 lyk;k & dks;yh & eFkqjk ikbiykbu

	 (ii) 	gthjk & chtkiqj & ikbiykbu txnh'kiqj xSl

	 (iii) 	tkeuxj & yksuh (,y-ih-th-) ikbiykbu

	 (iv)	 dkaMyk & HkfV.Mk ikbiykbu
	 (a) 	 (i) > (if) > (iii) > (iv)
	 (b) 	 (ii) > (iv) > (1) > (iii)
	 (c)	  (ii) > (iv) > (iii) > (i)
	 (d) 	 (ii) > (iii) > (iv) > (i)

	49-	eqxy lezkV vdcj ls lEcfU/r fuEufyf•r dFkuksa ij 

fopkj dhft, rFkk lgh mÙkj pqfu,%

		 dFku I% ^rkulsu* jkecyh ik.Ms; dks eqxy lezkV 

vdcj }kjk çnku dh xbZ inoh Fkh 

		 dFku II: vdcj dk fookg jktk eku flag dh cgu 

ds lkFk gqvk Fkk

		 dFku III: vcqy iQly ̂ vkbu&,&vdcjh* ds ys•d 

Fks 

		 dFku IV:  jktk VksMjey vdcj dh lsuk ds ç/ku 
lsukifr Fks

	 (a) 	dsoy dFku I ,oa II lgh gSa

	 (b)	 dsoy dFku III ,oa IV lgh gSa

	 (c) 	dsoy dFku III lgh gS

	 (d) 	dsoy dFku IV lgh gS

	50-	Hkkjr dks yksd fp=kdykvksa ls lEcfU/r fuEufyf•r 

dFkuksa ij fopkj dhft, rFkk lghA mÙkj dks pqfu, %

		 dFku I% iêðfp=k fp=kdykvksa dh fo"k; oLrq txUukFk 

,oa oS".ko laçnk; ls çHkkfor gSa

		 dFku II: eatw"kk fp=kdyk,¡ twV ,oa dkxt ds fMCcksa 

ij cukbZ tkrh gSaA 

		 dFku III% fiFkkSjk fp=kdyk,¡ xqtjkr ,oa eè; çns'k 

dh dqN tutkfr;ksa }kjk cukbZ tkrh gSA

	 (a) 	dsoy dFku I ,oa II lgh gSa

	 (b) 	dsoy dFku II ,oa III lgh gSa

	 (c) 	dsoy dFku I ,oa III lgh gSa

	 (d) 	lHkh pkjksa dFku lgh gSa

	 (a) 	 Statement I, II and III all are correct

	 (b)	 Statement I, II and III all are incorrect

	 (c)	 Only Statement I and II are correct

	 (d)	 Only Statement I is correct

	 48. 	Choose the correct option representing the 
following Pipeline Transports in decreasing order 
of their lengths:

	 (i)	 Salaya-Koyali-Mathura pipeline

	 (ii)		 Hajira-Bijapur-Jagdishpur gas pipeline

	 (iii) 	 Jamnagar-Loni (LPG) pipeline

	 (iv)	 Kandala-Bhatinda pipeline 

	 (a) 	 (i) > (ii) > (iii) > (iv)

	 (b) 	 (ii) > (iv) > (i) > (iii)

	 (c) 	 (ii) > (iv) > (iii) > (i)

	 (d) 	 (ii) > (iii) > (iv) > (i)

	 49.	 Consider the following statements related to the 
mughal emperor Akbar and choose the correct 
answer: 

		  Statement I: "Tansen' was the title given to 
Rambali Pandey by the Mughal emperor Akbar

		  Statement II: Akbar was married with the sister 
of Raja Man Singh

		  Statement III: Abul Fazl was the author of  
'Ain-i-Akbari' 

		  Statement IV: Raja Todarmal was the commander-
in-chief of Akbar's army

	 (a) 	 Only Statement I and II arecorrect

	 (b)	 Only Statement III and IV are correct

	 (c) 	 Only Statement III is correct 

	 (d)	 Only Statement IV is correct

	 50.	  Consider the following statements related to the 
folk paintings of India and choose the correct 
answer:

		  Statement I: The themes of Pattachitra paintings 
are inspired from Jagannath and Vaishnav Cults

		  Statement II: Manjusha paintings are executed 
on boxes of jute and paper

		  Statement III: Pithora paintings are made by some 
tribal communities of Gujarat and Madhya Pradesh 

	 (a)	 Only Statement I and II are correct 

	 (b)	 Only Statement II and III are correct

	 (c)	 Only Statement I and III are correct

	 (d)	 All the four statements are correct
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	51-	^dq#eiky f'kykys•* esa fdl jktk ds ckjs esa tkudkjh 
feyrh gS\

	 (a) 	o"kZxqIr	 (b) 	egkçojjkt

	 (c) 	lhes'oj çFke	 (d) 	egkf'koxqIr ckyktZqu

	52-	^fp=kkaxniqj* dks fdl jktoa'k esa jkt/kuh  cuk;k \
	 (a) 	psfnjktoa	 (b)	ik.Mq jktoa'k

	 (c) 	dYpqkjs jktoa'k	 (d) 	ekS;Z jktoa'k

	53- 	jruiqj ds fdl jktk ds dk;Zdky esa ek lsukifr HkkLdj 
iar us vkØe.k fd;k Fkk\

	 (a) 	jrjkt	 (b) 	j?kqukFk flag

	 (c) 	i`Fohnso çFke	 (d) 	vej flag

	54- 	lu~ 1855 esa NÙkhlx<+ ds fMIVh dfe'uj dkSu 1is \
	 (a) 	bfy;V	 (b) 	tsfUdUl

	 (c) 	dSIVu eklu	 (d) 	fpjke

	55- 	̂>.Mk lR;kxzg* fcykliqj esa dc çkjaHk gqvk\
	 (a)	 1 tuojh] 1923	 (b) 	18 ekpZ] 1922

	 (c) 	15 flracj] 1924	 (d)	 31 ekpZ] 1923

	56-	15 vxLr] 1947 dks nqxZ esa jksg.kk fdlds }kjk fd;k 
x;k \

	 (a) 	ia- jfo'kadj 'kDy	 (b) 	Jh vkj- ds- ikfVy

	 (c) 	Jh ?ku';ke xqIrk	 (d) 	ia- jkexksiky frokjh

	57-	NÙkhlx<+ esa lg;ksx vkanksyu ds nkSjku cfg"dkj Lo:i 
pkSfjLVj us fdl mikf/ dk R;kx fd;k Fkk\

	 (a)	 •ku lkgc	 (b) 	jkp egnqj

	 (c) 	jk; lkgc	 (d)	yksdfç;

	58-	NÙkhlx<+ dks yky ,oa ihyh fefêð;k¡ fuEufyf•r esa ls 
fdl rjg dh pV~Vkuksa ij fodflr gqbZ gS\

	 (a)	 xzsukbV flLV	 (b)	 clkYV

	 (c) 	cyqvk&IkRFkj	 (d)	pwuk&iRFkj

	59-	NÙkhlx<+ esa ikbZ tkus okyh fuEufyf•r o`{k çtkfr;ksa 
esa ls dkSu&lh jk"Vªh;Ñr o`{k lwph esa 'kkfey gS \

	 (a)	 lky	 (b) 	lkxkSu

	 (c) 	iSj	 (d)	mijksÙkQ lHkh

	60- 	NÙkhlx<+ esa 2001 ls 2011 ds eè; n'kdh; tula[;k 
dh o`f¼ nj fdruh gS \

	 (a) 	45-3»	 (b)	18-06»

	 (c)	 22-59»	 (d)	4-53»

	61-	NÙkhlx<+ dh fuEufyf•r fefêð;ksa ds LFkkuh; uke esa 
ls dkSu&lk lgh ugha gS \

	 (a)	 ihyh fpduh feV~Vh eVklh

	 (b)	 dkyh feV~Vh dUgkj

	 (c)	 dkyh ,oa ihyh feV~Vh dk feJ.k% dPNkj

	 (d)	 vuqitkÅ ysVjkbV feV~Vh % HkkVk

	 51.	 Information about which king is found in the 
"Kuruspal Inscription?

	 (a) 	 Harsha Gupta	
	 (b)	  Mahapravar Raj
	 (c) 	 Someshwar I	
	 (d) 	 Mahashivgupta Balajun
	 52.	 Which dynasty made 'Chitrangadapar the capital?
	 (a) 	 Chedi Dynasty	 (b) 	Pandu Dynasty
	 (c) 	 Kalchari Dynasty	 (d) 	Maurya Dynasty
	 53.	 During the tenure of which king of Ratanpur, 

Maratha Commander Bhaskar Pant had attacked?
	 (a) 	 Ratnaraj	 (b) 	Raghunath Singh
	 (c) 	 Prithvi Dev I	 (d) 	Amar Singh
	 54. 	Who was the Deputy Commissioner of Chhatisgarh 

in 1855)
	 (a) 	 Elliot	 (b) 	Jenkins
	 (c) 	 Captain Maasan	 (d) 	Chisham
	 55. 	When did the "Flag Satyagraha' begin
	 (a) 	 1 January, 1923	 (b) 	18 March, 1922
	 (c)	 15 September, 1924	 (d) 	31 March, 1923
	 56.	  On August 15, 1947, Flag Hoisting in Durg was 

done by whom?
	 (a) 	 Pt. Ravishankar Shikla
	 (b)	 Shri R. K. Patil
	 (c)	 (Shri Ghanshyam Gupta
	 (d)	 P. Ramgopal Tiwari
	 57.	 During the Non-Cooperation Movement in 

Chhattisgarh, which degree was left by Barrister 
Nagendranath Dey as a boycom?

	 (a) 	 Kham Saheb	 (b) 	Rai Bubacher
	 (c)	 Rai Sabed	 (d) 	Lokpriya
	 58.	 On which type of the following mcks have red and 

yellow soils of Chhattingach developed?
	 (a)	 Granite Schist	 (b) 	Basult
	 (c) 	 Sandstone	 (d) 	Limestone
	 59. 	Which of the following tree species in Chhattisgarh 

is included in nationalized tree list?
	 (a)	 Sal	 (b)	 Teak
	 (c)	 (Khair (Catech)	 (d) 	All of the above
	 60.	 What is the decadal growth rate of population 

between 2001 to 2011 in
	 (a)	 45.3% 	 (b)	 18.06%
	 (c)	 22.3986 	 (d) 	4.53%
	 61.	 Among the local  names of  soils  found 

 in Chhattisgarh, which one is not correct?
	 (a) 	 Yellow clay soil: Mata 
	 (b) 	 Black soll: Kanhar
	 (c)		 (Mixture of back and yellow soll: Kachbar
	 (d) 	 Infertile Latente sill: Bhat
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	62-	bZ&iapk;r iqjLdkj (2020) ds varxZr iapk;rksa ds 
l'kfÙkQdj.k ds fy, ̂ vkbZ-lh-Vh-* ds mi;ksx esa NÙkhlx<+ 
dks iwjs ns'k esa dkSu&lk LFkku feyk\

	 (a)	 igyk	 (b)	nwljk

	 (c)	 rhljk	 (d)	pkSFkk

	63-	{ks=k çkIr djrk gS\

	 (a)	 eSnku	 (b)	cLrj dk iBkj

	 (c) 	igkM+h {ks=k	 (d)	mijksÙkQ esa ls dksbZ

	 64-	fuEufyf[kr okD;ksa dks i<+dj lgh mrj fpfUgr dhft,%

	 (i) 	NÙkhlx<+ esa o"kkZ vfHkr% nf{k.k iwohZ ekulwuh 
gokvksa }kjk gksrh gS 

	 (ii) 	NÙkhlx<+ dk vf/dka'k Hkkx le tyok;q ds gS 

	 (iii)	 NÙkhlx<+ esa 'kkieku ds dks leqæ dh fudVrk 
,oa leqæ ls eq[; :i ls çHkkfor djrh gS

	 (a)	 dsoy (i) ,oa (ii) lgh gS

	 (b)	 dsoy (i) ,oa (ii) dgh gSA

	 (c) 	osQoy (ii) ,oa (iii) lgh gS

	 (d) 	(i), (ii) ,oa (iii) nksuksa lgh gS

	65- 	jkT; dh Ñf"k mRiknu dh o`f¼ nj fLFkj Hkko ij 
çk.kkRed ntZ dh xbZ Fkh\

	 (a) 	2015&16 ,oa 2016&17

	 (b) 	2012&13 ,oa 2017&18

	 (c) 	2015&16 ,oa 2017&18

	 (d) 	2017&18 ,oa 2018&19

	66-	fuEufyf•r esa ls jkT; dk dkSu&lk /u&o`r ouksa dh 
miyC/rk dh n`f"V ls lcls cM+k gS\

	 (a) 	fcykliqj ou&o`Ùk	 (b) 	ljxqtk ou&o`r

	 (c)	 cLrj ou&o`r	 (d)	jk;iqj ou&o`Ùk

	67-	bdykek ykSg v;Ld {ks=k fdl ftys esa fLFkr gS\

	 (a) 	jktukanxk¡o	 (b)	dk¡osQj

	 (c) 	nqxZ	 (d)	dchj/ke

	68- 	o"kZ 2011 dh tux.kuk ds vuqlkj NÙkhlx<+ esa iq#"k 
lk{kjrk nj (») gS

	 (a) 	81-45	 (b)	80-45

	 (c) 	79-45	 (d)	78-45

	69-	chtkiqj ftys esa fdl lewg dh pV~Vkus ik;h tkrh gS\

	 (a) 	d;k 'kSy lewg	

	 (b) 	xks.Mokuk ikSy lewg

	 (c) 	/kjokM+ 'kSy lewg

	 (d) 	foUè;u 'kSy lewg

	 62.	 Under E-Panchayat Award (2020), which place did 
Chhatisgarh get all over the county in the use of 
'ICT' for empowerment of Paschayats?

	 (a)	 Fiest	 (b)	 Second
	 (c)	 Third	 (d)	 Fourth
	 63. 	Which of the following agro-climati zones of 

Chhattisgarh receives lowest rainfall?
	 (a)	  Plain of Chhattisgarh
	 (b)	 Bastar plateau
	 (c)	 Northern hilly region
	 (d) 	 None of the above
	 64.	 Read the following statements carefully and choose 

the correct answer:
	 (i) 	 Chhattisgarh gets most of the rainfall from 

south-east monsoon winds
	 (i)	 Major part of Chhattisgarh lies in Temperate 

zone 
	 (iii)	  Distribution of temperature in Chhattisgarh 

is mainly affected by nearness of ocean and 
altitude from sea level

	 (A) 	 Only (1) and (ii) are correct 
	 (B)	 Only (1) and (ii) are correct
	 (c) 	 Only (i) and (ii) are correct
	 (d)	 (i), (ii) and (iii) all are correct
	 65. 	In which two years Chhattisgarh State's growth 

rate of agricultural production (at constant price) 
was recorded negative? 

	 (a) 	 2015-16 and 2016-17
	 (b) 	 2012-13 and 2017-18
	 (c) 	 2015-16 and 2017-18
	 (d)	 2017-18 and 2018-19
	 66.	 With the point of view of availability. which of the 

following forest (territorial) circle is the largest in 
Chhattisgarh?

		  (a) Bilaspur forest circle
		  (b) Sarguja forest circle
		  (c)	Bastar forest circle 
		  (d) Raipur forest circle
	 67.	  In which district Iklama iron ore arealies?
	  (a)	 Rajnandgaon 	 (b)	 Kanker
	 (c) 	 Durg	 (d) 	Kabirdham
	 68.	 According to year 2011 Census, the male literacy 

rate (%) in Chhattisgarhis:
	 (a) 	 81.45 	 (b) 	80.45
	 (c) 	 79.45	 (d) 	78.45
	 69.	  Which group of rocks are found in Bijapur district?
	 (a)	  Cudappa rocks group 
	 (b) 	 Gondwana rocks group
	 (c) 	 Dharwar rocks group 
	 (d) 	 Vindhyan rocks group



14

	70-	NÙkhlx<+ esa fdu gokvksa ls o"kkZ gksrh gS\

	 (a) 	mÙkj&if'peh ekulwu	

	 (b)	 nf{k.k&if'peh ekulwu

	 (c) 	mÙkj&iwohZ ekulwu

	 (d) 	nf{k.k&iwohZ ekulwu

	71-	NÙkhlx<+ jkT; dh o"kZ 2018&19 esa •fut ls fdruh 
jkf'k (djksM+ #- esa) jktLo ds :i esa çkIr gqbZ \

	 (a)	 6110-23	 (b) 	4911-41
	 (c) 	 5967-21	 (d)	 5822-23

	72-	NÙkhlx<+ xks/u U;k; ;kstuk fdl frfFk dks çkjEHk gqbZ\

	 (a) 	1 vxLr] 2020	 (b)	1 tqykbZ] 2020

	 (c)	 20 tqykbZ] 2020	 (d)	21 vxLr] 2020

	73-	fdl ;kstuk ds ekè;e ls ujok] xq#ck] xq#ok vkSj ckM+h 
dk vfHk;ku NÙkhlx<+ 'kklu }kjk fd;k x;k gS\

	 (a)	 i'kq/u fe=k ;kstuk	 (b)	ihuh ilkjks ;kstuk

	 (c)	 fdlku U;k; ;kstuk	 (d)	lqjkxh xk¡x ;kstuk

	74-	jkT; esa orZeku esa fdruh Ñf"k miu dk;Zjr gS\
	 (a)	 118	 (b)	 69
	 (c)	 112	 (d)	 72

	75-	NÙkhlx<+ çns'k esa xzh"e ½rq esa pyus okyh gok,¡ 
dgykrh gS%

	 (a) 	fpd	 (b) 	fljksadks

	 (c) 	pØokr	 (d)	yw

	76- 	̂<qdq fookg* fdl tutkfr esa çpfyr gS\

	 (a) 	i.Mks	 (b) 	dksjok

	 (c)	 eqfj;k	 (d)	dekj

	77-	^NÙkhlx<+h yksdlkfgR; dk vè;;u* ds jpukdkj dkSu 
gS\

	 (a) 	MkW- ujsUæ nso oekZ	

	 (b)	 MkW- fpÙkjatu

	 (c) 	n;k'kadj 'kqDy	

	 (d)	 MkW- fou; dqekj ikBd

	78-	cgqjk pkSFk dk ioZ dc euk;k tkrk gS \

	 (a) 	Ñ".k prqFkhZ	 (b) 	Hkknks 'kqDy prqFkhZ

	 (c)	 Tokj Ñ".k prqFkhZ	 (d)	Dokj 'kqDy prqFkhZ

	 79-	•Ec Lok¡x fdl tutkfr ds }kjk fd;k tkrk gS\

	 (a)	 dksjdw	 (b)	eqfj;k

	 (c)	 [kfM+;k	 (d)	eq.Mk

	80-	fdl tutkfr ds ;qokx`g dks ^xrhqvksuk* dgk tkrk gSA

	 (a) 	 mjk¡o	 (b) 	dekj

	 (c) 	fcjgksj	 (d) 	cSaxk

	 70. 	Which wind causes rainfall in Chhattisgarh?
	 (a) 	 North-West Monsoon
	 (b)	  South-West Monsoon
	 (c)	  North-East Monsoon
	 (d) 	 South-East Monsoon
	 71. 	How much amount (in crores of rupees) the State 

of Chhattisgarh received as revenue from mineral 
in the year 2018-197

	 (a) 	 6110.23	 (b) 	4911.41
	 (c) 	 5967.21	 (d) 	5822.23
	 72.	 On which date was Chhattisgarh Godhan Nyay 

Yojana started?
	 (a) 	 1 August, 2020	 (b) 	1 July, 2020
	 (c) 	 20 July, 2020	 (d) 	21 August, 2020
	 73.	 Through which scheme Narva, Garuva, Ghuruva 

and Bari have been campaigned by the Chhattisgarh 
Government? 

	 (a) 	 Pashudhan Mitra Yojana
	 (b) 	 Pauni Pasari Yojana
	 (c) 	 Kisan Nyay Yojana
	 (d) 	 Suraji Gaon Yojana
	 74	 How many agricultural produce mandis are 

currently working in the State of Chhattisgarh?
	 (a)	 118	 (b)	 69
	 (c)	 112	 (d)	  72
	 75.	 In Chhattisgarh region the wind blowing in summer 

season is called:
	 (a) 	 Chinook	 (b)	 Sirocco
	 (c) 	 Cyclone	 (d)	 Loo
	 76.	 In which tribe "Dhuku Marriage' is in practice?
	 (a) 	 Pando	 (b)	 Korwa
	 (c)	 Muriya 	 (d) 	Kamar
	 77. 	Who is the author of the book "Chhattisgarhi Lok 

Sahitya Ka Adbyayan"?
	 (a) 	 Dr. Narendra Dew Varm
	 (b) 	 Dr. Chimaranjan
	 (c) 	 Daya Shankar Shukia
	 (d) 	 De Vinay Kumar Pathuk
	 78.	 When is the Bahura Chouth Festival
	 (a)	 Bhado Krishna Chaturthi
	 (b)	 Bhado Shukla Chaturthi
	 (c) 	 Kwar Krishna Chaturthi
	 (d) 	 Kwar Shukla Chaturthi
	 79.	 Khamh Swang is performed by which tribe!
	 (a) 	 Korku	 (b)	 Muria
	 (c)	 Kharia	 (d)	 Munda
	 80.	  Youth dormitory of which tribe called 'Gituona"?
	 (a) 	 Oraon	 (b) 	Kamar
	 (c) 	 Birhor	 (d) 	Baiga
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 81- fuEufyf•r esa ls dkSu HkjHkjh xeu ds fy, çfl¼ gS\

	 (a) 	Jherh eerk paækdj	 (b)	Jherh lq:tckbZ •kaMs

	 (c) 	Jherh rhtu ukbZ	 (d)	lqJh ½rq oekZ

	82-	NÙkhlx<+ ds yksdxhrksa dk jktk fdl xhr dks dgk 
tkrk gS\

	 (a) 	nnfj;k	 (b) 	HkjHkjh

	 (c) 	iaFkh	 (d) 	panSuh xk;u

	83-	lkfgR;dkj txUukFk çlkn Hkkuq dks çFke Ñfr Fkh%

	 (a) 	rqylh RkÙo çdk'k	 (b) 	jl jRukdj

	 (c) 	NUn lkjkoyh 	 (d)	NUn çHkkdj

	84- 	NÙkhlx<+ ds ljxqtk esa dkSu&lh tkfr /krq ewfrZdyk 
dk dk;Z djrh gSaA 

	 (a) 	?kM+ok	 (b)	>kkj

	 (c) 	eykj	 (d) 	buesa ls dksbZ ugha

	85-	gy"k"Bh R;ksgkj D;ksa euk;k tkrk gS\

	 (a) 	vPNh iQly ds fy,

	 (b)	 ifr dh nh?kk;qZ ds fy,

	 (c) 	iq=k dks nh?kk;Zq ds fy,

	 (d) 	lq•&laifr ds fy,

	86-	fcykliqj esa ^jkmr ukpk* dk izkjaHk dc gqvk Fkk\

	 (a) 	1998	 (b)	2001

	 (c)	 2008	 (d) 	1978

	87- 	NÙkhlx<+ es nsgjkSjh O;atu dc cuk;k tkrk gS\

	 (a)	 nhikoyh	 (b) 	fookg

	 (c)	 uok[kkbZ	 (d)	fir`i{k

	88-	x.kra=k fnol ijsM 2000 esa fnYyh jktiFk ij NÙkhlx<+ 
dh >k¡dksa esa fdl yksdu`R; oQh izLrqfr  dh xbZ Fkh\

	 (a)	 ddlkj u`R;	 (b)	iaFkh u`R;

	 (c) 	lqvk u`R;	 (d) 	xkSjk u`R;

	89-	fuEufyf•r is; inkFkks± esa dkSu&lk tutkrh; is; inkFkZ 
ugha gS\

	 (a)	 dkslek	 (b)	/sjlk

	 (c) 	gfM+;k	 (d) 	rkM+h

	90-	2018 fo/kulHkk pquko esa NÙkhlx<+ dh fuokZfpr efgyk 
fo/k;dksa dks mudh fo/kulHkk lhV ls lqesfyr dhft, 
rFkk uhps fn, x, dwV ls lgh mÙkj pqfu,

			  efgyk fo/k;d		  fuokZpu {ks=k
	 (a) 	eerk pUækdj 	 (i)	r•riqj

	 (b)	 jf'e flag	 (ii)	/erjh

	 (c)	 banq catkjs	 (iii)	i.Mkfj;k

	 (d) 	jatuk lkgw 	 (iv)	ikex<+

	 81. 	Who among the following is famous for 'Bharthari 
Gayan"? 

	 (a) 	 Smt. Mamta Chandrakar
	 (b) 	 Smt. Surujbai Khande
	 (c) 	 Smt. Teejan Bai
	 (d) 	 Sushri Ritu Verma
	 82.	 Which song is considered as king of Chhattisgarhi 

folk songs?
	 (a) 	 Dadariya 	 (b)	  Bharthari
	 (c) 	 Panthi	 (d) 	Chandaini song
	 83.	 The first book of the author Jagannath Prasad 

Bhanu was:
	 (a) 	 Tulsi Tatva Prakash	 (b) 	Ras Ratnakar
	 (a) 	 Chhand Saravali	 (d) 	Chhand Prabhakar
	 84. 	Which caste works in metal sculpte in Sarguja of 

Chhattisgarh?
	 (a) 	 Ghadwa	 (b) 	Jhara
	 (c)	 Malar	 (d) 	None of these
	 85.	 Why is the Halshashthi Festival celebrated?
	 (a) 	 For good harvest of crops
	 (b) 	 For long life of husband
	 (c) 	 For long life of son
	 (d)	 For prosperity
	 86.	 When was 'Raut Nacha' started in Bilaspur?
	 (a) 	 1998	 (b)	 2001
	 (c)	 2008	 (d) 	1978
	 87.	 In Chhattisgarh when is Dehraury Sweet made?
	 (a)	 Deepavali 	 (b) 	Marriage
	 (c)	  Nawakhai 	 (d) 	Pitripaksh
	 88.	 In Republic Day 2020 Parade at Delhi Rajpath, 

which folk dance was performed in Chhattisgarh's 
Tableau?

	 (a)	  Kaksaar dance	 (b)	  Panthi dance
	 (c) 	 Sua dance	 (d) 	Guara dance
	 89.	  Which of the following is not a Scheduled Tribe's 

beverage?
	 (A) 	 Kosma	 (B)	 Dhersa
	 (C)	 Hadia	 (D)	 Tari
	 90.	 Match the elected women MLA's of Chhattisgarh 

in the Legislative Assembly's Election of 2018 with 
their Legislative Assembly's seats and choose the 
correct answer from the code given below:

	 			   Women 		 Electoral
				    MLA 		  Constituency
	 (a) 	 Mamta Chandrakar 	 (i)	 Takhatpur
	 (b) 	 Rashmi Singh	 (ii)	 Dhamtari
	 (c) 	 Indu Banjare 	 (iii) 	Pandaria
	  (d)	  Ranjana Sahoo 	 (iv)	 Pamgarh
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	 dwV %
		  (a)	 (b)	 (c)	 (d)
	 (a)	 (iii)	 (i)	 (iv)	 (ii)
	 (b)	 (i)	 (ii)	 (iii)	 (iv)
	 (c)	 (ii)	 (iii)	 (iv)	 (i)
	 (d)	 (iv)	 (ii)	 (iii)	 (i)

	91-	NÙkhlx<+ ds bfrgkl dh fuEufyf•r ?kVukvksa ij fopkj 
dhft,%

	 (i) 	gYck foæksg

	 (ii) 	ijydksV ds tehankj xsan flag dks iQk¡lh

	 (iii)	 flikgh foæksg dh 'kq#vkr

	 (iv)	 NÙkhlx<+ esa ejkBksa dk vkØe.k

	 (v)	 eqfj;k fonzksg

	 (vi)	 jruiqj dh LFkkiuk

	 (vii)	 'kghn ohj ukjk;.k flag dks iQk¡lh 

		 mijksÙkQ ?kVukvksa dk lgh dkykuqØe gS
	 (a) 	 (ii), (iv), (i), (iii), (vii), (vi), (v) 
	 (b)	 (vi), (iv), (i), (ii), (vii), (iii), (v)
	 (c) 	 (i), (v), (ii), (iii), (vi), (iv), (vii)
	 (d) 	 (iv), (i), (vi), (ii), (iii), (v), (vii)

	92-	NÙkhlx<+ dk og foæksg dkSu&lk gS ftls- ^cLrj dk 
eqfÙkQ laxzke* ds uke ls Hkh tkuk tkrk gS\

	 (a) 	dksy foæksg	

	 (b)	 fyaxkfxjh foæksg]

	 (c)	 rkjkiqj foæksg	

	 (d) 	ijydksV foæksg

	93-	^cks/?kkV ifj;kstuk* ls lEcfU/r fuEufyf•r diuksa ij 
fopkj dhft, rFkk lgh mÙkj dks pqfu,

		 dFku I: ;g bUækorh unh ij fLFkr gS
		 dFku II: bl ifj;kstuk ls ykHk ikus ftys narsokM+k] 

lqdek ,oa chtkiqj gksaxsA

		 dFku III: bl ifj;kstuk dks çLrkfpr flapkbZ {kerk 
3]66]580 gsDVs;j gS

		 dFku IV: bl ifj;kstuk dks çLrkfor fo|qr~ mRiknu 
{kerk 300 esxkokV gSA

	 (a) 	dsoy dFku I ,oa II lgh gSa 

	 (b)	 dsoy dFku II ,oa IV lgh gS

	 (c)	 dsoy dFku 1, II ,oa IV ugh gSa-

	 (d)	 lHkh pkjksa dFku lgh gS

	94-	^ekanj* fdl oxZ dk ok|;a=k gS \	

	 (a)	 rr 	 (b)	forr

	 (c)	 ?ku 	 (d)	lqf"kj

	 Code
		  (a)	 (b)	 (c)	 (d)
	 (a)	 (iii)	 (i)	 (iv)	 (ii)
	 (b)	 (i)	 (ii)	 (iii)	 (iv)
	 (c)	 (ii)	 (iii)	 (iv)	 (i)
	 (d)	 (iv)	 (ii)	 (iii)	 (i)
	 91.	 Consider the following events of the History of 

Chhattisgarh: 
	 (i)	 Halba Rebellion
	 (ii) 	 Sentence to death of Gend Singh, Zamindar 

of Paralkot 
	 (iii) 	 Starting of the Sepoy Mutiny
	 (iv)	 Maratha invasion in Chhattisgarh
	 (v) 	 Muria Rebellion
	 (vi) 	 Establishment of Ratanpur
	 (vi)	 Sentence to death of Sahid Veer Narayan 

Singh
		  The correct chronological order of the above events 

is:
	 (a) 	 (ii), (iv), (i), (iii), (vii), (vi), (v)
	 (b) 	 (vi), (iv), (i), (ii), (vii), (iii), (v)
	 (c) 	 (i), (v), (ii), (iii), (vi), (iv), (vii)
	 (d)	 (iv), (i), (vi), (ii), (iii), (v), (vii)
	 92. 	Which of the following Rebellions of Chhattisgarh 

is also called the 'Freedom Struggle of Bastar"?
	 (a) 	 Kol Rebellion
	 (b) 	 Lingagiri Rebellion
	 (c) 	 Tarapur Rebellion
	 (d)	 Paralkot Rebellion
	 93. 	Consider the following statements related to 

'Bodhghat Project' and choose the correct answer : 
		  Statement I: It is located at the river Indravati
		  Statement II: The beneficiary districts of this 

project will be Dantewada, Sukma and Bijapur 
		  Statement III: The proposed irrigation capacity 

of this project is 3,66,580 hectares
		  Statement IV: The proposed electricity-generation 

capacity of this project is 300 Megawatts 
	 (a)	 Only Statement I and III are correct
	 (b)	 Only Statement II and IV are correct
	 (C) 	 Only Statement I, II and IV are correct 
	 (D)	 All the four statements are correct
	 94.	 'Mandar' is the musical instrument of which class? 
	 (a) 	 Tat	 (b)	 Vitat
	 (c)	 Ghan	 (d) 	Sushir
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	95-	NÙkhlx<+ osQ fdu nks [kks&[kks f[kykfM+;ksa dk p;u 
^us'kuy Vªsfuax oSQi* ds fy, fd;k x;k gS\

	 (i)	 fufou dqekj rke

	 (ii)	 osnukjk;.k lkgw
	 (iii)	 Hkqous'oj lkgw

	 (iv)	 fldUnj

		 lgh mÙkj pqfu,
	 (a) 	(i) ,oa (ii)	 (b) 	(ii) ,oa (iii)
	 (c) 	(iii) ,oa (iv) 	 (d) 	(i) ioZ (iv)
	96-	NÙkhlx<+ esa fprokMksxjh osQ 'kSyfp=kksa dh •kst loZçFke 

fdlus dh Fkh\
	 (a)	 ts- vkj- dkacys ,oa jesUnzukFk feJ

	 (b) 	Hkxokuflag c?ksy ,oa jesUnzukFk feJ
	 (c) 	Hkxokuflag c?ksy ,oa v#.k oqQekj 'kekZ

	 (d) 	v#.k dqekj 'kekZ ,oa fo".kq Jh/j okd.kdj

	97-	^pded vfHk;ku vkSj ltx dk;ZØe* fdl foHkkx 
;kstuk dh ;kstuk gS\

	 (a) 	iapk;r xzkeh.k fodkl foHkkx

	 (b) 	efgyk ,oa fodkl foHkkx

	 (c)	 Ldwy f'k{kk foHkkx 

	 (d)	 yksd LokLF; ,oa ifjokj dY;k.k foHkkx

	98-	fuEufyf•r dFkuksa dks if<+, rFkk lgh fodYi dks 
pqfu,%

		 dFku I% dkaxsj ?kkVh ,d jk"Vªh; m|ku gSA
		 dFku II% dkaxsj ?kkVh ,d thoeaMy laj{k.k {ks=k 

(ck;ksfLiQ;j fjtoZ) ugha gS
		 dFku III% dkaxsj ?kkVh rhjFkx<+ tyizikr ls vkjEHk 

dj iwoZ esa vksfM+'kk dh lhek dksykc unh iQSyk gqvk gS
	 (a) 	dFku I,  II ,oa III lHkh lgh gaS 
	 (b) 	dFku I, II ,oa III lHkh xyr gSa
	 (c) 	dFku  I ,oa III lgh ysfdu dFku II xyr gS
	 (d) 	dFku I ,oa II lgh ysfdu dFku III xyr gSa
	 99-	fuEufyf•r dFkuksa dks if<+, rFkk lgh fodYi dks 

pqfu,A
		 dFku I% çiQqYy dqekjh nsoh dk NÙkhlx<+ f}rh; efgyk 

'kkld FkhaA
		 dFku II% çiQqYy dqekjh nsoh dk jkT;kfHk"ksd lu~ 1916 

esa gqvk Fkk
		 dFku III% jkT;kfHk"ksd osQ le; izIkqQYy dqekjh nsoh 

dh vk;q 12 o"kZ Hkh
	 (a)	 dFku I, II ,oa III lHkh lgh gS
	 (b)	 dFku I, II ,oa III lHkh xyr gS-
	 (c) 	dFku I ,oa II lgh gS] ysfdu dFku II xyr gS
	 (d)	 dFku I ,oa II xyr gSa] ysfdu dFku III lgh gSa

	 95. 	Which two Kho-Kho players of Chhattisgarh have 
been selected for 'National Training Camp'?

	 (i)	 Nitin Kumar Netam
	 (ii) 	 Vedoarayan Sahoo
	 (iii) 	 Bhuwaneshwar Sahoo
	 (iv)	 Sikandar
		  Select the correct answer:
	 (a) 	 (i) and (ii)	 (b) 	(ii) and (iii)
	 (c)	 (iii) and (iv)	 (d)	 (i) and (iv)
	 96.	 Who had festly discovered the rock paintings of 

Chitwadongri in Chhattisgarh?
	 (a)	 1.R. Kambley and Ramendranath Mishra
	 (b) 	 Bhagwan Singh Baghel and Ramendranath 

Mishra
	 (c) 	 Bhagwan Singh Baghel and Arun Kumar 

Sharma
	 (d) 	 Arun Kumar Sharma and Vishnu Shridhar 

Vakankar
	 97. 	Chakmak Abhiyan aur Sajag Karyakrama' is the 

scheme of which department?
	 (a) 	 Department of Panchayat and Rural 

Development
	 (b)	 Depar tment  of  Women and Chi ld 

Development 
	 (c) 	 Department of School Education
	 (d) 	 Department of Public Health and Family 

Welfare ANE PAR
	 98.	 Study the following statements and choose the 

correct option: 
		  Statement I: Kanger Ghati is a National Park
		  Statement II: Kanger Ghati is not a Biosphere 

Reserve
		  Statement III: Kanger Ghati is spreaded starting 

from Tirathgarh Waterfalls to the Kolab river, the 
boundary of Odisha in the east 

	 (a)	 Statement I, II and III all are true 
	 (b)	 Statement I, II and III all are false 
	 (c)	 Statement I and III are true, but statement II 

is false 
	 (d)	 Statement I and II are true, but statement III 

is false
	 99.	 Study the following statements; and choose the 

correct option:
		  Statement I: Prafulla Kumari Dev was the second 

women ruler Chhattisgarh
		  Statement II: Prafulla Kumari Devi had ascended 

the throne in 1916
		  Statement III: Prafulla Kuman Devi was 12 years 

old at the time of ascending the throne
	 (a) 	 Statement I, II and III all are true 
	 (b)	 Statement I, II and III all are false 
	 (c)	 Statement I and II are true, but statement III 

false
	 (d)	 Statement I and II false, but statement III is 

true.
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	100-	egkunh dk eSnku fuEufyf•r esa iQSyk gqvk gS

	 (a)	 mÙkjh NÙkhlx<+	 (b)	eè; NÙkhlx<+

	 (c) 	nf{k.kh NÙkhlx<+	

	 (d) 	mi;ZqÙkQ lHkh

	100.	 The plain Mahanadi spreadedthe following:
	 (a) 	 Northern Chhattisgarh
	 (b) 	 Middle Chhattisgarh
	 (c) 	 Southern Chhattisgarh
	 (d) 	 All of above


